

MEROMORPHIC FUNCTIONS WITH MISSING COEFFICIENTS DEFINED BY q -DERIVATIVE

SH. NAJAFZADEH ✉, T. BEHPUR , A. EBADIAN , AND R.H. HAGHI 

Article type: Research Article

(Received: 10 August 2022, Received in revised form 13 March 2023)

(Accepted: 03 April 2023, Published Online: 16 April 2023)

ABSTRACT. By considering a fixed point in the punctured unit disk and using the q -derivative, a new subfamily of meromorphic and univalent functions is defined. Also, the first and second order q -derivative of meromorphic functions are introduced. Coefficient bounds, extreme points, radii of starlikeness and convexity are obtained. Furthermore, the convexity and preserving under convolution with some restrictions on parameters are investigated.

Keywords: Meromorphic functions, q -derivative, Convex set, Extreme points, Coefficient estimate.
2020 MSC: 30C45, 30C50.

1. Introduction

Let Σ be the class of meromorphic functions of the type:

$$(1) \quad f(z) = \frac{1}{z} + \sum_{n=k}^{\infty} a_n z^n,$$

which are analytic in the punctured unit disk $\Delta^* = \{z \in \mathbb{C} : 0 < |z| < 1\}$.

Let w be a fixed point in Δ^* and Σ_w^u consist of functions F which are univalent in Δ^* and are of the form:

$$(2) \quad F(z) = f(z^*) = \frac{1}{z^*} + \sum_{n=k}^{\infty} a_n (z^*)^n, \quad (z^* = z - w).$$

Definition 1.1. We say that a function $f(z)$ is meromorphic on a domain Δ^* if $f(z)$ is analytic on Δ^* except possibly singularities, each of which is a pole. Also, $f(z)$ is a meromorphically starlike function of order λ if and only if:

$$-\operatorname{Re} \left\{ \frac{z f'}{f} \right\} > \lambda, \quad (z \in \Delta^*).$$

✉ najafzadeh1234@yahoo.ie, ORCID: 8344-8124-0002-0000

DOI: 10.22103/jmmr.2023.20063.1318

Publisher: Shahid Bahonar University of Kerman

How to cite: Sh. Najafzadeh, T. Behpur, A. Ebadian and R.H. Haghi, *Meromorphic functions with missing coefficients defined by q -derivative*, J. Mahani Math. Res. 2024; 13(1): 61-70.



© the Authors

Similarly, $f(z)$ is a meromorphically convex function of order λ if and only if:

$$-\operatorname{Re} \left\{ 1 + \frac{zf''}{f'} \right\} > \lambda.$$

Example 1.2. The functions $\frac{e^z}{z}$, $\frac{1}{z}$ and $-\frac{1}{z}$ are meromorphic, meromorphically convex and meromorphically starlike functions, respectively.

Gosper and Rahman [1], defined the q -derivative ($0 < q < 1$) of a function f of the form (1) by:

$$(3) \quad D_q f(z) = \frac{f(qz) - f(z)}{(q-1)z}, \quad (z \in \Delta^*).$$

This definition can be extended for functions $F \in \Sigma_w^u$ of the form (2) as follow:

$$(4) \quad D_q F(z) = D_q f(z^*) = \frac{f(qz^*) - f(z^*)}{(q-1)z^*}, \quad (z^* = z - w).$$

From (4), we get:

$$(5) \quad D_q F(z) = \frac{1}{q(z-w)^2} + \sum_{n=k}^{\infty} [n]_q a_n (z-w)^{n-1},$$

where

$$(6) \quad [n]_q := \frac{1-q^n}{1-q} = 1 + q + \cdots + q^{n-1}.$$

If $q \rightarrow 1^-$, then $[n]_q \rightarrow n$, hence we have:

$$\lim_{q \rightarrow 1^-} D_q F(z) = F'(z).$$

A function $F(z)$ belonging to the class Σ_w^u is in the class $\Sigma_w^u(\alpha, \beta, q)$ if it satisfies the inequality:

$$(7) \quad \left| \frac{\frac{q}{3} \left[(z-w) \frac{(D_q F(z))''}{(D_q F(z))'} + 2 \right] + \frac{q}{3}}{\beta q \left[(z-w) \frac{(D_q F(z))''}{(D_q F(z))'} + 1 \right] + \alpha q} \right| \leq 1,$$

where $-1 \leq 2\beta < \alpha < 1$ and $0 \leq \alpha \leq 1$.

2. Main Results

First, we obtain coefficient bounds for functions in $\Sigma_w^u(\alpha, \beta, q)$. Then we prove the convexity of this class.

Theorem 2.1. $F(z)$ of the form (2) belongs to $\Sigma_w^u(\alpha, \beta, q)$ if and only if:

$$(8) \quad \sum_{n=k}^{\infty} q(n-1)[n]_q \left(n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right) a_n \leq 2(\alpha - 2\beta).$$

Proof. Suppose (8) holds and

$$\mathcal{A} = \left| \frac{q}{3}(z-w)[D_q F(z)]'' + q[D_q F(z)]' \right| - |\beta q(z-w)[D_q F(z)]'' + (\alpha + \beta)q[D_q F(z)]'|.$$

Replacing $[D_q F(z)]'$ and $[D_q F(z)]''$ by using (5) for $0 < |z-w| = r < 1$, we have:

$$\begin{aligned} \mathcal{A} &= \left| \sum_{n=k}^{\infty} q\left(\frac{n+1}{3}\right)(n-1)[n]_q a_n (z-w)^{n-2} \right| \\ &\quad - \left| \frac{1}{(z-w)^3} (2\alpha - 4\beta) + \sum_{n=k}^{\infty} q(n-1)[n]_q (\beta(n-1) + \alpha) a_n (z-w)^{n-2} \right| \\ &\leq \left| \sum_{n=k}^{\infty} q\left(\frac{n+1}{3}\right)(n-1)[n]_q a_n r^{n-2} - (2\alpha - 4\beta) \frac{1}{r^3} \right. \\ &\quad \left. + \sum_{n=k}^{\infty} q(n-1)[n]_q (\beta(n-1) + \alpha) a_n r^{n-2} \right|. \end{aligned}$$

Since this inequality holds for all r ($0 < r < 1$), making $r \rightarrow 1$, we obtain:

$$\mathcal{A} \leq \sum_{n=k}^{\infty} q(n-1)[n]_q \left(n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right) a_n - 2(\alpha - 2\beta).$$

By (8), we have $\mathcal{A} \leq 0$, so we get the required result.

Conversely, let

$$\left| \frac{\sum_{n=k}^{\infty} q\left(\frac{n+1}{3}\right)(n-1)[n]_q a_n (z-w)^{n-2}}{\frac{2(\alpha-2\beta)}{(z-w)^3} + \sum_{n=k}^{\infty} q(n-1)[n]_q (\beta(n-1) + \alpha) a_n (z-w)^{n-2}} \right| \leq 1,$$

hence

$$\left| \frac{\sum_{n=k}^{\infty} q\left(\frac{n+1}{3}\right)(n-1)[n]_q (z-w)^{n+1}}{2(\alpha - 2\beta) - \sum_{n=k}^{\infty} q(n-1)[n]_q (\beta(n-1) + \alpha) a_n (z-w)^{n+1}} \right| \leq 1.$$

Since $\text{Re}\{z\} \leq |z|$ for all z , then it follows from the above inequality that:

$$\text{Re} \left\{ \frac{\sum_{n=k}^{\infty} q\left(\frac{n+1}{3}\right)(n-1)[n]_q (z-w)^{n+1}}{2(\alpha - 2\beta) - \sum_{n=k}^{\infty} q(n-1)[n]_q (\beta(n-1) + \alpha) a_n (z-w)^{n+1}} \right\} \leq 1.$$

By putting $z - w = r$ with $0 < r < 1$ in the above inequality, we get:

$$(9) \quad \operatorname{Re} \left\{ \frac{\sum_{n=k}^{\infty} q\left(\frac{n+1}{2}\right)(n-1)[n]_q r^{n+1}}{2(\alpha - 2\beta) - \sum_{n=k}^{\infty} q(n-1)[n]_q [\beta(n-1) + \alpha] a_n r^{n+1}} \right\} \leq 1.$$

Upon clearing the denominator in (9) and letting $r \rightarrow 1$, we have:

$$\sum_{n=k}^{\infty} q\left(\frac{n+1}{3}\right)(n-1)[n]_q \leq 2(\alpha - 2\beta) - \sum_{n=k}^{\infty} q(n-1)[n]_q [\beta(n-1) + \alpha] a_n.$$

So

$$\sum_{n=k}^{\infty} q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right] a_n \leq 2(\alpha - 2\beta).$$

This completes the proof. \square

Corollary 2.2. *If $F(z) \in \sum_w^u(\alpha, \beta, q)$, then the coefficients of $F(z)$ satisfies in the following inequality:*

$$a_n \leq \frac{2(\alpha - 2\beta)}{q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right]}, \quad (n \geq k).$$

Remark 2.3. Let $f(z) = z(1-z)^{-1}$ and $g(z) = z(1+iz)^{-1}$ belong to the class of normalized univalent functions. Then $(f+g)'(\frac{1}{2}(1+i)) = 0$, so $(f+g)(z)$ is not in the same class. But for meromorphic functions we have the following theorem.

Theorem 2.4. $\sum_w^u(\alpha, \beta, q)$ is a convex set.

Proof. Let $F_j(z)$ defined by:

$$F_j(z) = \frac{1}{z-w} + \sum_{n=k}^{\infty} a_{n,j}(z-w)^n, \quad (j = 1, 2, \dots),$$

be in the class $\sum_w^u(\alpha, \beta, q)$. It is sufficient to prove that:

$$F(z) = \sum_{j=1}^m \delta_j F_j(z),$$

is also in $\sum_w^u(\alpha, \beta, q)$, where $\sum_{j=1}^m \delta_j = 1$.

Since $F_j(z) \in \sum_w^u(\alpha, \beta, q)$, by (8) we have:

$$(10) \quad \sum_{n=k}^{\infty} q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right] a_{n,j} \leq 2(\alpha - 2\beta), \quad (j = 1, 2, \dots, m),$$

also

$$\begin{aligned} F(z) &= \sum_{j=1}^m \delta_j F_j(z) \\ &= \sum_{j=1}^m \delta_j \left[\frac{1}{z-w} + \sum_{n=k}^{\infty} a_{n,j} (z-w)^n \right] \\ &= \frac{1}{z-w} \sum_{j=1}^m \delta_j + \sum_{n=k}^{\infty} \left(\sum_{j=1}^m \delta_j a_{n,j} \right) (z-w)^n. \end{aligned}$$

But

$$\begin{aligned} &\sum_{n=k}^{\infty} q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right] \left(\sum_{j=1}^m \delta_j a_{n,j} \right) \\ &= \sum_{n=k}^{\infty} \delta_j \left(\sum_{n=k}^{\infty} q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right] a_{n,j} \right) \end{aligned}$$

by (10), we have:

$$\begin{aligned} &\leq \sum_{j=1}^m [2(\alpha - 2\beta)] \\ &= 2(\alpha - 2\beta). \end{aligned}$$

Now the proof by applying Theorem 2.1 is complete. \square

3. Extreme points and Radii properties

In the last section, we introduce extreme points of $\sum_w^u(\alpha, \beta, q)$ and obtain radii of starlikeness and convexity for the same class.

Theorem 3.1. *Let*

$$(11) \quad F_0(z) = \frac{1}{z-w},$$

and for $n \geq k$,

$$(12) \quad F_n(z) = \frac{1}{z-w} + \frac{2(\alpha - 2\beta)(z-w)^n}{q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right]},$$

then $F(z) \in \sum_w^u(\alpha, \beta, q)$ if and only if it can be expressed in the form:

$$F(z) = \sum_{n=0}^{\infty} d_n F_n(z),$$

where $d_n \geq 0$, $d_i = 0$ ($i = 1, 2, \dots, k-1$) and $\sum_{n=0}^{\infty} d_n = 1$.

Proof. Let $F(z) = \sum_{n=0}^{\infty} d_n F_n(z)$, so:

$$\begin{aligned}
F(z) &= d_0 \left(\frac{1}{z-w} \right) \\
&+ \sum d_n \left[\frac{1}{z-w} + \frac{2(\alpha-2\beta)}{q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right]} \right] (z-w)^n \\
&+ \sum_{n=k}^{\infty} d_n \left[\frac{1}{z-w} + \frac{2(\alpha-2\beta)}{q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right]} \right] (z-w)^n \\
&= \frac{1}{z-w} \sum_{n=0}^{\infty} d_n + \sum_{n=k}^{\infty} \frac{2(\alpha-2\beta)}{q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right]} d_n (z-w)^n \\
&= \frac{1}{z-w} + \sum_{n=k}^{\infty} \frac{2(\alpha-2\beta)}{q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right]} d_n (z-w)^n.
\end{aligned}$$

Since

$$\begin{aligned}
&\sum_{n=k}^{\infty} \frac{2(\alpha-2\beta)}{q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right]} \\
&\times d_n \left(q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right] \right) \\
&= \sum_{n=k}^{\infty} 2(\alpha-2\beta) d_n \\
&= 2(\alpha-2\beta) \sum_{n=k}^{\infty} d_n \\
&\leq 2(\alpha-2\beta) \sum_{n=0}^{\infty} d_n = 2(\alpha-2\beta),
\end{aligned}$$

so by Theorem 2.1, $F(z) \in \sum_w^u(\alpha, \beta, q)$.

Conversely, suppose that $F(z) \in \sum_w^u(\alpha, \beta, q)$. Then by (8), we have:

$$(13) \quad a_n \leq \frac{2(\alpha-2\beta)}{q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right]}.$$

By setting:

$$\begin{aligned}
d_n &= \frac{q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right]}{2(\alpha-2\beta)} a_n, \quad (n \geq 1), \\
d_i &= 0, \quad (i = 1, 2, \dots, k-1), \\
d_0 &= 1 - \sum_{n=2}^{\infty} d_n,
\end{aligned}$$

we obtain the required result. \square

Theorem 3.2. Let $F(z) \in \sum_w^u(\alpha, \beta, q)$. Then:

$[(i), \text{noitemsep}]F(z)$ is meromorphically univalent starlike of order λ for $0 \leq \lambda < 1$ in $|z - w| < R_1$, where:

$$R_1 = \left\{ \frac{q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right] (1-\lambda)}{2(\alpha - 2\beta)(n+2+\lambda)} \right\}^{\frac{1}{n+1}}.$$

$F(z)$ is meromorphically univalent convex of order λ for $0 \leq \lambda < 1$ in $|z - w| < R_2$, where:

$$R_2 = \left\{ \frac{q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right] (1-\lambda)}{2n(\alpha - 2\beta)(n+2+\lambda)} \right\}^{\frac{1}{n+1}}.$$

(2) *Proof.*

$[(i), \text{noitemsep}]$ It is enough to show that:

$$\left| \frac{(z-w)F'(z)}{F(z)} + 1 \right| \leq .$$

But

$$\begin{aligned} \left| \frac{(z-w)F'(z)}{F(z)} + 1 \right| &= \left| \frac{-\frac{1}{z-w} + \sum_{n=k}^{\infty} na_n(z-w)^n + \frac{1}{z-w} + \sum_{n=k}^{\infty} a_n(z-w)^n}{\frac{1}{z-w} \left(1 + \sum_{n=k}^{\infty} a_n(z-w)^{n+1} \right)} \right| \\ &\leq \frac{\sum_{n=k}^{\infty} (n+1)a_n(z-w)^{n+1}}{1 - \sum_{n=k}^{\infty} a_n(z-w)^{n+1}} \\ &\leq 1 - \lambda, \end{aligned}$$

or

$$\sum_{n=k}^{\infty} (n+1)a_n|z-w|^{n+1} \leq (1-\lambda) - (1-\lambda) \sum_{n=k}^{\infty} a_n|z-w|^{n+1},$$

or

$$\sum_{n=k}^{\infty} \frac{(n+2+\lambda)}{1-\lambda} a_n|z-w|^{n+1} \leq 1.$$

Now, by using (13), we have:

$$\begin{aligned} &\sum_{n=k}^{\infty} \frac{n+2+\lambda}{1-\lambda} a_n|z-w|^{n+1} \\ &\leq \sum_{n=k}^{\infty} \frac{2(\alpha - 2\beta)}{q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right]} |z-w|^{n+1} \left(\frac{n+2+\lambda}{1-\lambda} \right) \leq 1. \end{aligned}$$

So it is enough to suppose:

$$|z - w|^{n+1} \leq \frac{q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right] (1-\lambda)}{2(\alpha - 2\beta)(n+2+\lambda)},$$

and so the proof of 1 is complete. Since “ f is convex if and only if zf' is starlike”,

$$\begin{aligned} \frac{(z-w)[(z-w)F'(z)]'}{(z-w)F'(z)} &= \frac{(z-w)[F'(z) + (z-w)F''(z)]}{(z-w)F'(z)} \\ &= 1 + \frac{(z-w)F''(z)}{F'(z)}. \end{aligned}$$

□

In the last theorem, we show that $\sum_w^u(\alpha, \beta, q)$ is closed under convolution.

Theorem 3.3. *If*

$$\begin{aligned} F(z) &= \frac{1}{z-w} + \sum_{n=k}^{\infty} a_n (z-w)^n, \\ G(z) &= \frac{1}{z-w} + \sum_{n=k}^{\infty} b_n (z-w)^n, \end{aligned}$$

are in the class $\sum_w^u(\alpha, \beta, q)$, then the Hadamard product (or convolution) of F and G defined by:

$$(14) \quad (F * G)(z) = \frac{1}{z-w} + \sum_{n=k}^{\infty} a_n b_n (z-w)^n,$$

is in the class $\sum_w^u(\alpha, \beta^*, q)$, where:

$$(15) \quad \beta^* \geq \frac{\frac{2}{3}(\alpha - 2\beta)^2(n+1) - 3\alpha q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right]^2}{2(\alpha - 2\beta)^2(1-n) - 2(n-1)q[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right]^2}.$$

(2) *Proof.* Since $F, G \in \sum_w^u(\alpha, \beta, q)$, so by (8), we have:

$$(16) \quad \sum_{n=k}^{\infty} \frac{q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right] a_n}{2(\alpha - 2\beta)} \leq 1,$$

$$(17) \quad \sum_{n=k}^{\infty} \frac{q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right] b_n}{2(\alpha - 2\beta)} \leq 1.$$

We must find the smallest β^* such that:

$$\sum_{n=k}^{\infty} \frac{q(n-1)[n]_q \left[n\left(\beta^* + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta^*\right) \right] a_n b_n}{2(\alpha - 2\beta^*)} \leq 1,$$

by using the Cauchy-Schwarz inequality, we have:

$$(18) \quad \sum_{n=k}^{\infty} \frac{q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right]}{2(\alpha - 2\beta)} \sqrt{a_n b_n} \leq 1.$$

Now, it is enough to show that:

$$\begin{aligned} & \frac{q(n-1)[n]_q \left[n\left(\beta^* + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta^*\right) \right]}{2(\alpha - 2\beta^*)} a_n b_n \\ & \leq \frac{q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right]}{2(\alpha - 2\beta)} \sqrt{a_n b_n}, \end{aligned}$$

or equivalently:

$$\sqrt{a_n b_n} \leq \frac{(\alpha - 2\beta^*) \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right]}{(\alpha - 2\beta) \left[n\left(\beta^* + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta^*\right) \right]}.$$

But from (17), we have:

$$\sqrt{a_n b_n} \leq \frac{2(\alpha - 2\beta)}{q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right]}.$$

So it is enough that

$$\frac{2(\alpha - 2\beta)}{q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right]} \leq \frac{(\alpha - 2\beta^*) \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right]}{(\alpha - 2\beta) \left[n\left(\beta^* + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta^*\right) \right]},$$

or

$$\frac{2(\alpha - 2\beta)^2}{q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right]^2} \leq \frac{\alpha - 2\beta^*}{n\left(\beta^* + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta^*\right)}.$$

After a simple calculation, we get:

$$\beta^* \geq \frac{\frac{2}{3}(\alpha - 2\beta)^2(n+1) - 3\alpha q(n-1)[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right]^2}{2(\alpha - 2\beta)^2(1-n) - 2(n-1)q[n]_q \left[n\left(\beta + \frac{1}{3}\right) + \left(\frac{1}{3} - \beta\right) \right]^2},$$

so the proof is complete. \square

Authors' Contributions

All the authors contributed equally and significantly in writing this article. All the authors read and approved the final manuscript.

Data Availability Statement

No underlying data was collected or produced in this study.

Funding

The authors received no financial support for the research, authorship, and publication of this article.

Conflicts of Interest

The authors declare that they have no competing interests.

References

- [1] G. Gasper, M. Rahman, and G. George, *Basic hypergeometric series*, Cambridge university press, 2004.
- [2] Z. S. Mansour, *Linear sequential q -difference equations of fractional order*, *Fract. Calc. Appl. Anal.* vol. 12, no. 2 (2009) 159-178.
- [3] G. Murugusundaramoorthy, K. Vijaya, and T. Janani, *Subclasses of Starlike Functions with A Fixed Point involving q -hypergeometric function*, *J. Ana. Num. Theor.* vol. 4, no. 1 (2016) 41–47.
- [4] Sh. Najafzadeh, A. Ebadian, and Gordji, M. Eshaghi *Certain subclasses of convex functions with positive and missing coefficients by using a fixed point*, *The Journal of Non-linear Sciences and its Applications* vol. 2, no. 4 (2009) 219-224.
- [5] Sh. Najafzadeh, *Fractional q -differintegral operator related to univalent functions with negative coefficients*, *J. Mahani Math. Research Center*, vol. 9, no. 2 (2020) 69-77.

SHAHRAM NAJAFZADEH

ORCID NUMBER: 8344-8124-0002-0000

DEPARTMENT OF MATHEMATICS

PAYAME NOOR UNIVERSITY

P. O. BOX 19395-3697, TEHRAN, IRAN

Email address: najafzadeh1234@yahoo.ie, shnajafzadeh44@pnu.ac.ir

TAHEREH BEHPUR

ORCID NUMBER: 0000-0003-0997-8606

DEPARTMENT OF MATHEMATICS

PAYAME NOOR UNIVERSITY

P. O. BOX 19395-3697, TEHRAN, IRAN

Email address: taherehbehpour@gmail.com

ALI EBADIAN

ORCID NUMBER: 0000-0003-4067-6729

DEPARTMENT OF MATHEMATICS

URMIA UNIVERSITY

URMIA, IRAN

Email address: ebadian.ali@gmail.com

ROBAB H. HAGHI

ORCID NUMBER: 0000-0001-9333-5042

DEPARTMENT OF MATHEMATICS

PAYAME NOOR UNIVERSITY

P. O. BOX 19395-3697, TEHRAN, IRAN

Email address: robab.haghi@gmail.com